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1. (a) SfEc=es e fogr | 1
Define hypersphere.

(b) ;‘meqwmmqwﬂﬁmw |
I :

Write the mathematicg] form of a general
linear programming problem. |
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(c) R QN @Bt 2 g 37
Answer any one question :

Pro .
ve that the intersection of two0 %

conv . . [
€X sets is again a convex set. J!é .
i

R e i qoc s o2 R

What are . th e ;f
model? e limitations of LP |

(d R @ gy R Tay 7y
Answer any one questi.on :

0 ww -
sz?::m" D! CeifR ool |

SO].Ve . |
. grapmcally the following LPP * |
19/ Maximize

e Z= 3x1 +2x2
-39/subject to

xl-xg <1
X1+x2 =23

e
/and xlixg 20

i
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(i) R RS oERT TEIRG! AT RS
Y 91 : '
Solve graphically the following LPP :
#RYFIY 91/ Minimize Z = x; -2,
3'®/subject to '
-2x; +%x5 £ 8
-x; +2x5 £-24

W/and Xy, Xo 20

| 2. (@) SEERIRF o TOTR TR SN T

e & @2 1
What do you mean by easible solution’
of linear programiming problem?

aﬁhﬁ@mquwﬁﬁﬂmw
o) veed IR el | 2

Define slack and surplus variables of a
linear programming problem.

R @I Bt 2 T W0 ' 7
Answer any one question :

() Pwem =R T IR WRe g
© ST I 9 |

Using the simplex method, solve
the linear programming problem.
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AR89/ Maximize
Z =5x; +3x,
T'y/ subject to
X +xy <2
Sx; +2x5 <10
3x +8x, <12

prO Ced‘ure
solve

Pl'Oblem ‘
@ (z) S ()1 g ;.
Swer elther ) or (i) .
(l) ﬁ*‘f*ﬂ W
W
o T
SOIVe th'
two-phase ;

ear programmmg

f°110ng LPP usmg
Mmethod

. ctaw‘/M"min’l.ize |
Z le +3x2
€Ct to
Lo S 2mx, g

. ’E/ subJ

P7/44¢

computational |
. °f simplex method 10|

R o 2R 2 |

(5)

(i) Ra-M *mafex oo (aRF a@Fw9 M
STy 91 -

Using Big-M method,
following LPP :

W% 391/ Minimize
Z =5x) +3x4
3’8 /subject to
2xj +4x, <12
2x; +2x4 =10
5x, +2x, 210

solve the

¢ /and Xy, Xg 20

3. (a) ©F I T PRI
Write True or False. ,
o1 ARIFAT TPTR (Ao 9O FRdF
el

The ‘dual of a maximization problem is a
minimization problem.
(b) O GIRF AT SO Cwwmof o :
Write the dual of the following LPP :
989 I3/ Maximize
Z= 4x1 +9JC2 + 2x3
T’$/subject to )
2x +3xy +2x5 <7
) 3x1 ‘2X2 +4X3 =3
W/a'nd Xy Xg, X3 20
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(6) (7)

() R @ GBt R Tag 31 (b) &1 “RIZT TPUR S ot o | | 2
Answer any one question : g Write the mathematical formulation of a

i ti blem.
) SR aRF (aRT o STPVIOR 2@7 transportation pro

ST S - R O @B 2R TE T 8
Obtain the dual f)roblem of th Answer any one question :

following primai Lp problem : (@) S'TFEE &S IR IR TR 4RI STOIOR
1 ¥91/Minimize . ST ST e =

zZ= xX; +2x, Obtain an optimal soh.J.tion using Vog(::l’s
TS/ subject to method of the following transportation

2X) +4x, <160 problem :
X ~x, =30 =
! x2 >10 Supply
l [
Dy D,
¥ /and Xy, Xy 20 D Dy 5: 1;
(i) M @, oy o 2ad (80 S .| 19 30
’ T S, |70 30 40 60 9
|
Prove that dual of the dual of J 5% % T 20 -8
gtlven Prima] Problem is the pri®”| 5f/Demand | 5 8 7 14 34
itself, ; :

(b) Y G
Write shor@ notes on :
() TET-o1fow T3 omfs
North-West corner rule
(@) T w3 omfe

Least cost method

* ok %k
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